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* Channel lost

 Performances for 2020 GSI run

 GSI (electronic) data: BM-VTX

e To do list



Channel lost

In 12/2019 we tried to test the BM stand alone
acquisition chain.

The pins of the low voltage has been plugged
in the wrong way (we naively believed what
was written on the board).

This caused the damage of the capacitors of
the LW board used in the voltage stabilizer
circuit.

In the substitution of the capacitors, one sense
wire of a cell has been broken.



Channel lost (2)
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Performances for 2020 GSI run
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G5l electironic setup.

BM - Position of the track at target center

| BM_Track_bmMap
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Starting analysis on the 2211.july.dat run
(no target, in principle vtx synchronized)

BM tracks affected by the TO shift

Apparently No BM-VTX correlation

Possible causes:

-BM reco suffers too much for the TO
shift

-VTX reco has something wrong
-VTX events not synchronized due to
event builder or hardware prob.
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Till the end of February - begin of March
 GSI emulsion data taking (9/2 - 13/2)
* Finalize the BM multi-track reconstruction algorithm (end of February)
« Optimization of the space-time relation autocalibration algorithm

 The software development of the BM should be finalized (except for possible new ideas
or requirements)

From March: data analysis

* (Sl electronic setup: try to resolve the causes of the BM-VTX loss of correlations (use the
TW hits position)

« Check the BM rejecting power on the events in which the projectile has fragmented on
the ST or in the BM itself.

 Check the BM resolution and its impact on the inverse kinematic approach.
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At the moment there no evidence for the
need to fix the dead channel.

However if it is needed, the work to do
should be the following:

* Remove all the reading boards (A)

* Remove the lateral panel B

* Remove the board (C)- very critical
* Add a wire inside - very critical

* Glue the wire on on side and pinch it on the
other side

* More difficulties due to the fact that who
built the BM is retired.
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